### Informational Report for the June 28, 2011, Board of Trustees Meeting

#### Faculty Separations

Last Name	First Nam	e Mi	Site		Position Code	Division	Date of Hire	Effective Date				
	Retirement											
Las Positas C	ollege											
Cassidy	Fredda	K.	Las Positas	Instructor, Art and Visual Communications	3FSM05	Art and Humanities	8/12/2002	5/31/2011				

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

### **Classified Staff Separations**

			P. 0.00	The state of the s	Position			Effective
Last Name	First Nam	MI	Site	Position Title	Code	Division	Date of Hire	Date
				Resignation				
Chabot College								
Yahya	Abdullah	nmi	Chabot	Webmaster	2CMS21	Instructional Technology	1/8/2007	6/3/2011
Las Positas Colle	ege							
Gandara	Angelina	L.	Las Positas	Workability III Employment Developer	3CDS08	Student Services	8/23/2006	8/17/2011
				Emeritus Retireme	nt		]	
Las Positas Colle	ege							
Crosetti	Alexandra	C.	Las Positas	Instructional Assistant II	3CSM04/05	Mathematics	12/4/1989	8/5/2011

### Informational Report for the June 28, 2011, Board of Trustees Meeting

#### **Administrative Separations**

Last Name	First Name	MI	Site	Position Title	Position Code	Division	Date of Hire	Effective Date			
Resignations											
Las Positas Co	ollege										
Luster	Pamela	T.	Las Positas	Vice President of Student Services	3AIN05	Student Services	8/1/2000	7/15/2011			
Machamer	Ann Marie	nmi	Las Positas	Director of Research and Planning	3APR06	Research and Planning	7/1/1999	6/12/2011			

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

#### **Short-Term and Substitute Appointments**

				New	Heat and the second							
Lact Name	First Name	na i	Sita	Emp to		Range	Stan	Salary	Division	Max Hours		Assign End Date
Last Name	FilSt Name	IAIT	Site	DISTRICT	rosidon rule	ixange	Осер	Calaiy	DIVISION	ilouis	Deg. Date	Liusbut
Chabot Col	lege - Short-	Term	Employee	s (Non-Co	ntinous Service)							
Brown	Harold	C.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Dauley	Hugh	Т.	Chabot	Yes	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Mendiola	Lisa	A.	Chabot	No	Veterans Benefits Specialist	35	1	\$22.24	Admission and Records	20/week	5/1/2011	6/30/2011
Paulson	Emily	A.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Perez- Gomez	Mariana	nmi	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Ramos	Charmaine	M.	Chabot	No	Administrative Assistant I	24	1	\$18.71	Student Services - Special Programs	35/week	3/15/2011	6/24/2011
Rodriques	Emma	L	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Warren	Andrea	L.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Wright	John	D.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	18/week	7/1/2011	12/31/2011
Chabot Col	llege - Substi	itute	Employees	s								
Dolin	Darrell	L.	Chabot	No	Security Officer	37	5	\$28.49	Campus Safety	24/week	7/1/2011	12/31/2011
Garecht	Elizabeth	M.	Chabot	Yes	Security Communications Dispatcher	29	1	\$19.16	Campus Safety	20/week	4/1/2011	12/31/2011

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

### **Short-Term and Substitute Appointments**

										P.		
Last Name	First Name	MI		New Emp to District	Position Title	Range	Step	Salary	Division		Assign Beg. Date	Assign End Date
Sanchez	Teresa	R.	Chabot	No	Reprographic Assistant I	23	1	\$16.54	Administrative Services	40/week	7/1/2011	12/31/2011
Shira	Craig	J.	Chabot	No	Reprographic Assistant I	23	1	\$16.54	Administrative Services	40/week	7/1/2011	12/31/2011
Ticzon	Godofredo	R.	Chabot	No	Reprographic Assistant I	23	1	\$16.54	Administrative Services	40/week	7/1/2011	12/31/2011
Pratt	Roberta	F.	Chabot	No	Telephone Operator/Receptionist	25	1	\$17.39	Administrative Services	150/max	7/1/2011	12/31/2011
Young	Judy	J.	Chabot	No	Executive Assistant to Vice President	C380	1	\$23.97	Student Services	40/week	5/3/2011	12/31/2011
Las Positas	College - St	ort-t	erm Employ	ees (Nor	L		-					
Danner	Terri	L.	Las Positas		Instructional Assistant I (DSPS)	25	1	\$17.39	Disabled Student Programs and Services	30/week	7/1/2011	8/1/2011
Pettis	Kelly	J.	Las Positas	No	Instructional Assistant I (DSPS)	25	1	\$17.39	Disabled Student Programs and Services	18/week	7/1/2011	8/1/2011
Straight	Mary	A.	Las Positas	No	Assessment Specialist	34	5	\$26.47	Admission and Records	10/week	7/1/2011	8/1/2011
Las Positas	: College - St	ubstit	L tute Employe	ees								
Huber	Nicole		Las Positas		Curriculum and Scheduling Specialist II	37	5	\$28.49	Academic Services	40/week	6/1/2011	7/31/2011
Cach	Robert	L.	Las Positas	L.	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
Corral	Educardo	nmi	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
Fiso	Christopher	M.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

#### **Short-Term and Substitute Appointments**

Last Name	First Name	MI		New Emp to District	Position Title	Range	Step	Salary	Division	CONTROL OF THE PARTY OF THE PAR	A PARTY OF THE PROPERTY OF THE PARTY OF THE	Assign End Date
Gardner	Kenneth	D.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
Lowery	Charles	S.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
Marcoux	Andrew	nmi	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
Montanez	Luis	M.	Las Positas	No	Security Officer	37	1	\$23,36	Campus Safety	18/week	7/1/2011	12/31/2011
Ros	John	nmi	Las Positas	No	Administrative Assistant II	34	1	\$21.69	Student Services	40/week	7/1/2011	8/1/2011
Rothman	Melissa	J.	Las Positas	No	Admission and Records Assistant	27	1	\$18.24	Admission and Records	20/week	7/1/2011	7/31/2011
Tallerico	Melissa	M.	Las Positas	No	Counselor Assistant II	34	1	\$21.69	CalWORKs	30/week	7/1/2011	8/1/2011
Villanueva	Veronica	nmi	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	18/week	7/1/2011	12/31/2011
District Ser	⊥ vices - Subs	 titute	Employees									
Gardner	William	R.	Chabot	No	Grounds Supervisor	S230	1	\$30.69	Maintenance and Operations	40/week	4/1/2011	4/30/2011
Papazian	David	L.	District Services	Yes	Grounds Worker I	31	1	\$20.12	Maintenance and Operations	40/week	5/25/2011	6/30/2011

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

ercas ce da l'esque commit ambien				New			
					Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Chabot College							
Absher	Michael	S.	Chabot	No	Regular	Machine Tool Technology	Summer 2011
Acacio	Christine	S.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Alarcon	Laura	J.	Chabot	No	Regular	Student Services	Summer 2011
Ames	Jason	M.	Chabot	No	Regular	Communication Studies	Summer 2011
Ashraf	Sadaf	nmi	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Bartelt	Margaret	L.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011
Bashaw	Erin	S.	Chabot	Yes	Adjunct	Nursing	Spring 2011
Bhangal	Jaswinder	K.	Chabot	No	Regular	Business	Summer 2011
Buchwald	Norman	l.	Chabot	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Buell, Jr.		R.	Chabot	No	Regular	Fire Technology	Summer 2011
Buti	Debbie	A.	Chabot	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
						Electronic Systems/Computer	
Casiní	David	V.	Chabot	No	Adjunct	Application Systems	Summer 2011
Church	Jane	D.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Colon	Miguel	A.	Chabot	No	Adjunct	Business	Summer 2011
Cook	Leonard	R.	Chabot	No	Adjunct	Photography	Summer 2011 and 2011-12 Academic Year
Dale	ValJean	nmi	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
D'Aloisio	Michael	J.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Daniels-Crowell	Jennifer	nmi	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Davis	Christina	L.	Chabot	No	Adjunct	Communication Studies	Summer 2011
Davis	Peter	K.	Chabot	No	Regular	Physical Education	Summer 2011
Diaz	Patrise	A.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Diaz	Patrise	A.	Chabot	No	Adjunct	Student Services	Summer 2011
Dickinson	Julia	nmi	Chabot	No	Adjunct	Psychology	Summer 2011
Discua	Gabriela	TI.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Dupon	Jean	W.	Chabot	Yes	Adjunct	Chemistry	2011-12 Academic Year
Egusa	Jerry	R.	Chabot	No	Regular	Learning Skills	Summer 2011
Foth	Homeira	nmi	Chabot	No	Regular	English	Summer 2011
Franklin	Windy	M.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New		The state of the s	
		0.00		Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Garcia	Damon	A.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Garcia	Melva	\(\frac{1}{\sqrt{1}}\)	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Gebhardt	Charles	V.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Genera	Sandra	F.	Chabot	No	Adjunct	Student Services	Summer 2011
Gibson	Donna	G.	Chabot	No	Regular	Chemistry	Summer 2011
Glen	Chad	M.	Chabot	No		Mass Communications	Summer 2011
Grant	Elizabeth	C.	Chabot	No	Regular	Sociology	Summer 2011
	Debbie	1	Chabot	No	Adjunct	<u> </u>	Summer 2011 and 2011-12 Academic Year
Green		Α.		- 1	Adjunct	Counseling	
Greene	Carolyn	J.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Greene	Dara	S.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Hanson	William	H.	Chabot	No	Regular	Administration of Justice	Summer 2011
Harbin	Carey	Ε.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Harris	Timothy	E.	Chabot	No	Regular	Music	Summer 2011 and 2011-12 Academic Year
Hauck	Mark	J.	Chabot	No	Adjunct	English	Summer 2011
Hernandez	Janett	nmi	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Но	Ming-Lun	nmi	Chabot	No	Regular	Mathematics	Summer 2011
Hobbs	Angela	K.	Chabot	No	Regular	English as a Second Language	Summer 2011
Hope	Sharon	R.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Huang	Wei-Chin "Adrian"	nmi	Chabot	No	Regular	Architecture	Summer 2011 and 2011-12 Academic Year
Isad	Zakia	nmi	Chabot	No	Adjunct	Political Science	Summer 2011
Johnson-Murphy	Gail	C.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Johnston	Carmen	J.	Chabot	No	Regular	English	Summer 2011
Jones	Don	L.	Chabot	No	Adjunct	Machine Tool Technology	Summer 2011
Kalyagin	Dmitriy	M.	Chabot	No	Regular	Business	Summer 2011
Keeler	N "Bruce"	B.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Kelley	Kathy	G.	Chabot	No	Regular	Early Childhood Development	Summer 2011
<u> </u>		1		1	T	Business/Computer Application	
Klein	Lynn	K.	Chabot	No	Regular	Systems	Summer 2011
Kubo	Alison	K.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Kuwabara	Joseph	nmi	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

	ALLES TEN CITE IN CONTROL OF			New		15 (2007) (2007)	
				Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Linn-Downs	Carren	M.	Chabot	No	Adjunct	History	Summer 2011
Long	H,	A.	Chabot	No	Regular	Machine Tool Technology	Summer 2011
Lopez Yanez	Arturo	nmi	Chabot	No	Regular	Sign Language	Summer 2011
Lustig	Deborah	F.	Chabot	No	Adjunct	Anthropology	Summer 2011
McFarland	Sean	E.	Chabot	No	Regular	English	Summer 2011
McGregor	Diana	L.	Chabot	No	Adjunct	Early Childhood Development	Summer 2011
McLean	Clara	D.	Chabot	No	Regular	English	Summer 2011
MacLennan	Paul	K.	Chabot	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Maldonado Aziminia	Rachel	nmi	Chabot	No	Adjunct	Student Services	Summer 2011
Matasol	Sandra	C.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Matthews	James	E,	Chabot	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Mize	Naoma	L.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Molina	Patricia	G.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Moniz	Rick	G.	Chabot	No	Regular	History	Summer 2011
Moon	Cristina	J.	Chabot	No	Regular	Spanish	Summer 2011
Morrison	Kim	L.	Chabot	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Mumford	Jay	K.	Chabot	No	Regular	Real Estate	Summer 2011
Munger	Monica	Ř.	Chabot	No	Regular	Learning Skills	Summer 2011
Nakamoto	Robert	D.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Nelson	Tracy	L.	Chabot	No	Adjunct	Political Science	Summer 2011
Nijjar	Rani	nmi	Chabot	No	Regular	Psychology	Summer 2011
Novak	Janice	V.	Chabot	No	Regular	Business	Summer 2011
O'Toole	Judithann	О.	Chabot	No	Adjunct	Computer Application Systems	Summer 2011
Parrish	Caren	M.	Chabot	No	Regular	French	Summer 2011
Payne	Heather	Α.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
						Computer Application	
Phillips	Wayne	A.	Chabot	No	Regular	Systems/Electronic Systems	Summer 2011
Pinkas	Catherine	nmi	Chabot	No	Regular	Business	Summer 2011
Plaza	Rebecca	S.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Prentice	Julian	Y.	Chabot	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year

### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New			
				Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Reynoso	Pedro	nmi	Chabot	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Rahmany	Khalil	R.	Chabot	No	Adjunct	Psychology	Summer 2010 and 2010-11 Academic Year
Robinson	Hyman	L.	Chabot	No	Adjunct	Sociology	Summer 2011
Ruiz	Norberto	nmi	Chabot	No	Regular	Business	Summer 2011
Shadbolt	Kurt	W.	Chabot	No	Adjunct	Automotive Technology	Summer 2011
Shannon	Patricia	D.	Chabot	No	Regular	Humanities	Summer 2011
Singh	Lakhbir	nmi	Chabot	No	Adjunct	Anthropology	Summer 2011
Taylor	Marion "Terri"	T.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Thomas	Lia	S.	Chabot	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Tripp	Felicia	L.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Victoria	Ernesto	nmi	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Weaver	Greta	V.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Williams	Ken	R.	Chabot	No	Regular	Economics	Summer 2011
Wilson	Burnierose "Lani"	L.	Chabot	No	Regular	Counseling	Summer 2011 and 2011-12 Academic Year
Wilson	Jeanne	D.	Chabot	No	Regular	Student Services	Summer 2011
Wong	Wanda	Y.	Chabot	No	Regular	Business	Summer 2011
Worthington	Barbara	J.	Chabot	No	Regular	English	Summer 2011
Yeager	Sherri	L.	Chabot	No	Regular	History	Summer 2011
Yeh	Jennifer	J.	Chabot	No	Adjunct	Counseling	Summer 2011 and 2011-12 Academic Year
Zermeño	Francisco	C.	Chabot	No	Regular	Spanish	Summer 2011
Las Positas College	, , , , , , , , , , , , , , , , , , , ,						
Achen	Morio	M.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Adkins	Lori	J.	Las Positas	No	Adjunct	Emergency Medical Services	2011-12 Academic Year
Albair	Stephen	J.	Las Positas	No	Adjunct	Arts and Art History	2011-12 Academic Year
Alliband-McGrew	Savanna	S.	Las Positas	No	Adjunct	French	2011-12 Academic Year
Amaya	Angela	L.	Las Positas	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Anaya	Jason	W.	Las Positas	No	Adjunct	Photography	2011-12 Academic Year
Anderson	Sylvia	R.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year

### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New			
	\$100 March 40 October 2015				Adjunct /		The part of the control of the contr
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
						Computer Information	
						Systems/Computer Network	
Austin	Victoria	L.	Las Positas	No	Adjunct	Technology/Computer Science	2011-12 Academic Year
Bagby	Charlotte	A.	Las Positas	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Barnett	Charles	F.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Barretto	Joao	C.	Las Positas	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Bateson	William	D.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Bauer	Deborah	A.	Las Positas	No	Adjunct	Sociology	2011-12 Academic Year
Belak	Diane	M.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Berendt	Eric	P.	Las Positas	No	Adjunct	Visual Communications	2011-12 Academic Year
Boercker	Dale	P.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Boercker	David	B.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Blair	Ted	L.	Las Positas	No	Adjunct	Political Science	Summer 2011 and 2011-12 Academic Year
Blinn	Thomas	A.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Bolin	Cynthia	M.	Las Positas	No	Adjunct	Surgical Technology	2011-12 Academic Year
Bowden	Cynthia	A.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Bruce	Lindell	R.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Canfield	Susan	D.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Caponussa	Kathleen	E.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Carter	Brazell	H.	Las Positas	No	Adjunct	History	2011-12 Academic Year
Cefalo	Diana	L.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Chen	Hollace	K.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Chen	Tina	nmi	Las Positas	No	Adjunct	English	2011-12 Academic Year
Chiolis	Steven	K.	Las Positas	No	Adjunct	English/Humanities	2011-12 Academic Year
Chovnick	Amy	nmi	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Christen	Oliver	B.	Las Positas	No	Adjunct	Geology	2011-12 Academic Year
Colber	Valerie	H.	Las Positas	No	Adjunct	Computer Information Systems	2011-12 Academic Year
Cole	Melinda	Ś.	Las Positas	No	Adjunct	American Sign Language	2011-12 Academic Year
Combs	John	A.	Las Positas	No	Adjunct	Physics	2011-12 Academic Year
Cooperman	Sally	L.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New			
				Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Copra	Edward	R.	Las Positas	No	Adjunct	American Sign Language	2011-12 Academic Year
Cuellar	Carmen	C.	Las Positas	No	Adjunct	Anthropology	2011-12 Academic Year
Darck	Jeffrey	L.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
DeMange	Paul	P.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Denyer	William	W.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Devine	Timothy	K.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Dignon	Jane	E.	Las Positas	No	Adjunct	Geography	2011-12 Academic Year
				1	,	Computer Information	
Donat	Teresa	G.	Las Positas	No	Adjunct	Systems/Marketing	2011-12 Academic Year
Doran	Caroline	J.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Doerr	Robert	D.	Las Positas	No	Adjunct	Psychology	2011-12 Academic Year
						Business/Computer Information	
Dorr	Diane	P.	Las Positas	No	Adjunct	Systems	2011-12 Academic Year
Drummond	Sally	E.	Las Positas	No	Adjunct	Speech	2011-12 Academic Year
Dunbar	Richard	B.	Las Positas	No	Adjunct	Italian	2011-12 Academic Year
Duran	Lisa	M.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Ellingsworth	Chad	T.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Epps	Jennifer	J.	Las Positas	Yes	Adjunct	Geography	2011-12 Academic Year
Fairweather	Abrol	0.	Las Positas	No	Adjunct	Philosophy	2011-12 Academic Year
Fenchel	Veronica	A.	Las Positas	No	Adjunct	Interior Design	2011-12 Academic Year
Finch	Alison	nmi	Las Positas	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Fish	Stephanie	A.	Las Positas	No	Adjunct	Library Services	Summer 2011 and 2011-12 Academic Year
Fitzgerald	Jackie	A.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Fitzgerald	Matthew	S.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Freelen III	George	T.	Las Positas	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Frye	Victoria	M.	Las Positas	No	Adjunct	Dance	2011-12 Academic Year
Fuller	Thomas	P.	Las Positas	No	Adjunct	Horticulture	2011-12 Academic Year
Gakhal	Balbir	S.	Las Positas	No	Adjunct	Welding	2011-12 Academic Year
Gallagher	John	T.	Las Positas	No	Adjunct	Anatomy	2011-12 Academic Year
Gardner	Karen	S.	Las Positas	No	Adjunct	Anthropology	2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

ar est something and				New			
		0.000		Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
	· · · · · · · · · · · · · · · · · · ·						
Gauthier	Denise	C.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Gemma	Jennifer	L.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Gouveia	Keith	A.	Las Positas	No	Adjunct	Political Science	Summer 2011 and 2011-12 Academic Year
Graham	Jennie	K.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Gravino	Leslie	D.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Gray	Charles	nmi	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Guthrie	Linda	A.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Hamm	Jeremy	R.	Las Positas	No	Adjunct	Theater Arts	2011-12 Academic Year
Hampton	Janell	M.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Hansen	Jessica	F.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Hartmann	Jennette	A.	Las Positas	No	Adjunct	Computer Studies	2011-12 Academic Year
Helstrom	Zel	D.	Las Positas	No	Adjunct	Emergency Medical Services	2011-12 Academic Year
Hersch	Tonya	A.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Hinerman	Stephen	D.	Las Positas	No	Adjunct	Religion	2011-12 Academic Year
Hoang	Trang	N.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Hornbeck	Jill	A.	Las Positas	No	Adjunct	Interior Design	2011-12 Academic Year
Hui	Frances	M.	Las Positas	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Inkelis	Karen	L.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Inzerilla	Tina	E.	Las Positas	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Jarrell	Linda	M.	Las Positas	No	Adjunct	Business/Marketing	2011-12 Academic Year
Jay	Michael	J.	Las Positas	No	Adjunct	Visual Communications	2011-12 Academic Year
Johnson	George	A.	Las Positas	No	Adjunct	Surgical Technology	2011-12 Academic Year
Johnson	James	S.	Las Positas	No	Adjunct	Occupational Safety and Health	2011-12 Academic Year
Jovian	Tracy	L.	Las Positas	No	Adjunct	Speech	2011-12 Academic Year
Judd	Jeffrey	R.	Las Positas	No	Adjunct	Biology/Ecology	2011-12 Academic Year
Jung-Cooper	Sohee	nmi	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Kang	Manjit	nmi	Las Positas	No	Adjunct	Computer Information Systems	2011-12 Academic Year
Kaufman	Craig	R.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Keener	Julie	B.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
King	Suzanne	D.	Las Positas	Yes	Adjunct	Chemistry	Summer 2011 and 2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New			
and the comment of the control of th				Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Klask	Aimee	L.	Las Positas	No	Adjunct	History	2011-12 Academic Year
Kordes	Tim	W.	Las Positas	No	Adjunct	Fire Service Technology	2011-12 Academic Year
Kruger	Kelly	E.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
LaChappelle	Robert	nmi	Las Positas	No	Adjunct	Geology	2011-12 Academic Year
Lacques Aranda	Madeline	T.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Langendorff	Eric	G.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Lappa	Robert	C.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Lauffer	Mary	M.	Las Positas	No	Adjunct	Business/Work Experience	2011-12 Academic Year
Lee	Wendy	l.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Lehr	Ann	K.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Leveque	Darcy	nmi	Las Positas	No	Adjunct	Psychology	2011-12 Academic Year
Lewis	Melvin	K.	Las Positas	No	Adjunct	Fire Service Technology	Summer 2011 and 2011-12 Academic Year
Lin	Michelle	M.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Longmuir	Alan	G.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Lucey	Vicki	P.	Las Positas	No	Adjunct	Psychology	Summer 2011 and 2011-12 Academic Year
Lundbom	Jean	L.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
McCann	Abigal	nmi	Las Positas	No	Adjunct	English	2011-12 Academic Year
McElderry	Stuart	J.	Las Positas	No	Regular	History	Summer 2011
McGurk	Julia	l.	Las Positas	Yes	Adjunct	English as a Second Language	2011-12 Academic Year
McMichael	Heidi	L.	Las Positas	No	Adjunct	English	2011-12 Academic Year
McQuiston	Michael	A.	Las Positas	No	Adjunct	Administration of Justice	2011-12 Academic Year
MacLean	Jill	C.	Las Positas	No	Adjunct	Theater Arts	2011-12 Academic Year
Maiti	Amitesh	nmi	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Maiti	Baishali	nmi	Las Positas	Yes	Adjunct	Mathematics	2011-12 Academic Year
Melendez	Raiph	E.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Mesmer-Stempien	Marie	nmi	Las Positas	No	Adjunct	Sociology	2011-12 Academic Year
Milanese	Linda	L.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Mohebi	Mehrdad	nmi	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Molloy	Stephanie	L.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Molteni	Maria	nmi	Las Positas	No	Adjunct	Italian	2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New	and the second		
		0.000	Edition State of the	Emp to	Adjunct /		
Last Name	First Name	MI	Site		A COMPANY OF THE PROPERTY OF T	Discipline	Term
				I.			
Moore	Jeanette	M.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Moore	Katherine	Ĺ.	Las Positas	No	Adjunct	Microbiology	2011-12 Academic Year
Morgan	Paul	D.	Las Positas	No	Adjunct	Geography	2011-12 Academic Year
Morgan	Wesley	E.	Las Positas	No	Adjunct	Theater Arts	2011-12 Academic Year
Mote-Yaffe	Sally	B.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Murray	Theresa	M.	Las Positas	No	Adjunct	Anthropology	2011-12 Academic Year
Musser	Travis	J.	Las Positas	No	Adjunct	Visual Communications	2011-12 Academic Year
Nevarez	Hortencia	nmi	Las Positas	No	Adjunct	Spanish	2011-12 Academic Year
Oeh	Karen	M.	Las Positas	No	Adjunct	Anthropology	2011-12 Academic Year
O'Neal	Jennifer	M.	Las Positas	No	Adjunct	Psychology	2011-12 Academic Year
O'Neill	Thomas	B.	Las Positas	No	Adjunct	Religion/Humanities	2011-12 Academic Year
Ott	James	E.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Pabley	Vicki	E.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Payne	Leslie	L.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Pentcheva	Caterina	1.	Las Positas	No	Adjunct	Computer Science	2011-12 Academic Year
Peoples	Hugh	A.	Las Positas	No	Adjunct	Chemistry	2011-12 Academic Year
Petersen	Deborah	A.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Peterson	David	K.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Peterson	Traci	L.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Pihl	Karen	B.	Las Positas	No	Adjunct	Botany	2011-12 Academic Year
Powers	David	J.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Rathbone	Judith	nmi	Las Positas	No	Adjunct	English	2011-12 Academic Year
Richardson (Corbett)	Kathleen	S.	Las Positas	No	Adjunct	Sociology	Summer 2011 and 2011-12 Academic Year
Riensche	David	L.	Las Positas	No	Adjunct	Biology	2011-12 Academic Year
Roberts	Mark	A.	Las Positas	No	Adjunct	Arts	2011-12 Academic Year
Robinson	Hyman	L.	Las Positas	No	Adjunct	Sociology	2011-12 Academic Year
Robinson	John	V.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Roe	Donald	L.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Rose	James	W.	Las Positas	No	Adjunct	Administration of Justice	2011-12 Academic Year
Rose	Sharon	nmi	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year

### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New			
	20 (2010) 91 (2010) 51 (3	8.000	1000 B 4000 B	Emp to	Adjunct /		
Last Name	First Name	MI	Site	District	Regular	Discipline	Term
Ross	Ken	nmi	Las Positas		Adjunct	Theater Arts	2011-12 Academic Year
Rutkowsky	Christopher	M.	Las Positas		Adjunct	History	2011-12 Academic Year
Sandhu	Sabeen	nmi	Las Positas	No	Adjunct	Sociology	2011-12 Academic Year
Santos	Rina	A.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Satterthwaite	Monica	A.	Las Positas	No	Adjunct	Arts	2011-12 Academic Year
Schenk	Ruth	nmi	Las Positas	No	Adjunct	English	2011-12 Academic Year
Schmidt	Robert	D.	Las Positas	No	Adjunct	Chemistry	2011-12 Academic Year
Schoenecker	Kathleen	C.	Las Positas	No	Adjunct	Learning Skills	2011-12 Academic Year
Shumaker	Suann	L.	Las Positas	No	Adjunct	Economics/Political Science	2011-12 Academic Year
Sevet	Anne	nmi	Las Positas	No	Adjunct	French	2011-12 Academic Year
Smigelski	Joseph	G.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Smith	Riki	M.E.F.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Stevens	Debra	J.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Steward	Gena	M.	Las Positas	No	Adjunct	Administration of Justice	2011-12 Academic Year
Strode	Frank	J.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Stein	Julie	L.	Las Positas	No	Adjunct	Business	2011-12 Academic Year
Steinberg	Michael	J.	Las Positas	No	Adjunct	History	2011-12 Academic Year
Stinn	Todd	V.	Las Positas	No	Adjunct	Welding	2011-12 Academic Year
Sydlaske	Robert	V.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Teruya	Alan	Т.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Thompson	Marcus	W.	Las Positas	No	Adjunct	Mass Communications	2011-12 Academic Year
Trombly Christen	Christine	L.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Tsubota	Jin	nmi	Las Positas	No	Adjunct	Mass Communications	2011-12 Academic Year
Tyler	Stephanie	I.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
						Computer Information	
Vani	Engjellushe	nmi	Las Positas	No	Adjunct	Systems/Computer Science	2011-12 Academic Year
Vardanega	Gail	P.	Las Positas	No	Adjunct	Computer Information Systems	2011-12 Academic Year
Virgilio	Jeanne	M.	Las Positas	No	Adjunct	Early Childhood Development	2011-12 Academic Year
Vitalis	Elizabeth	Α.	Las Positas	No	Adjunct	Physiology	2011-12 Academic Year
Wagoner	Susan	L.	Las Positas	No	Adjunct	English	2011-12 Academic Year

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site		Adjunct / Regular	Discipline	Term
	111111111111111111111111111111111111111						
Warren	Cheryl	L.	Las Positas	No	Regular	Library Services	Summer 2011 and 2011-12 Academic Year
Weiss	Cynthia	L.	Las Positas	No	Adjunct	Spanish	2011-12 Academic Year
Wemier	Ann	E.	Las Positas	No	Adjunct	History	2011-12 Academic Year
Whitaker	Bridget	M.	Las Positas	No	Adjunct	Visual Communications	2011-12 Academic Year
White	Warren	T.	Las Positas	No	Adjunct	Mathematics	2011-12 Academic Year
Wightman	Daniel	J.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Willis	James	B.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Wilson	Jimmie	C.	Las Positas	No	Adjunct	English	2011-12 Academic Year
Wisely	Wendy	M.	Las Positas	No	Adjunct	Theater Arts	2011-12 Academic Year
						Health Science/Surgical	
Wittman	Daniel	W.	Las Positas	No	Adjunct	Technology	2011-12 Academic Year
Wong	Sebastian	E.	Las Positas	No	Adjunct	Emergency Medical Services	2011-12 Academic Year
Xiezopolski	Ivona	A.	Las Positas	No	Adjunct	English as a Second Language	2011-12 Academic Year
Yashar	Bijan	nmi	Las Positas	No	Adjunct	Photography	2011-12 Academic Year
Zapata	Michelle	D.	Las Positas	Yes	Adjunct	Counseling	2011-12 Academic Year
Zimmerman	Fredric	B.	Las Positas	No	Adjunct	Music	2011-12 Academic Year
Zolfarelli	Jeffrey	nmi	Las Positas	No	Adjunct	Fire Service Technology	2011-12 Academic Year

### Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
						- Dopartmont	i ay iyac	r ay reaco	Maximum	Amount	Deg. Date	Liiu Date
Chabot College	e Community I	duc	ation									
		1			To teach Salsa and		<u>i</u>					·····
			1		Ballroom Dancing to		;					
					Community Education	Community					-	
DeLeon	Emerlita	A.	Chabot	No	students	Education	Hourly	\$35.00	16 hours	\$560.00	6/11/2011	8/6/2011
					To teach Drama, "Glee"							
					Edible Art, Edible	,					İ	
					Science, The Breakfast							
		١.		İ.,	Club to Kids on Campus	Community		_				
Haney	Victoria	A.	Chabot	No	students	Education	Hourly	\$25.00	65 hours	\$1,625.00	6/20/2011	7/1/2011
					To teach language arts		:					
	1				and math classes to						į.	
Hirstein	Katie	S.	Chabot	No	Kids on Campus	Community	1 lavades	<b>605.00</b>	07 haves	<b>6045.00</b>	0/00/0044	7/4/0044
niisteiii	Naue	S	Chapot	No ·	students To teach Sports for Kids	Education	Hourly	\$35.00	27 hours	\$945.00	6/20/2011	7/1/2011
					Summer 2011 to						i	
					Community Education	Community						
Jackson	James		Chabot	No	students	Education	Hourly	\$25.00	15 hours	\$375.00	6/20/2011	7/1/2011
October 1	James	<del> </del>	Chabot	110	To provide counseling to	Ladoadon	ricuity	\$25,00	10 Hours	\$575.00	0/20/2011	1/1/2011
			!		Kids on Campus	Community						
Powell	Megan	M.	Chabot	No	students	Education	Hourly	\$10.00	70 hours	\$700.00	6/20/2011	7/1/2011
		-	:		To teach Fashion			<del> </del>	70110010	4,00.00	0/20/2011	77 172011
					Design to Kids on	Community					•	
Ragbotra	Kamal	nmi	Chabot	No	Campus students	Education	Hourly	\$25.00	17.5 hours	\$437.50	6/20/2011	7/1/2011
			:		To serve as Senior		<u> </u>					
					Counselor/Camp			2				
					Director to Kids on	Community	;					
Sannebeck	Daniel	A.	Chabot	No	Campus students	Education	Hourly	\$20.00	70 hours	\$1,400.00	6/20/2011	7/1/2011

## Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To teach language arts						<u> </u>	
					and math classes to							
					Kids on Campus	Community		,				
Santiago	Emily	E.	Chabot	No	students	Education	Hourly	\$35.00	17.5 hours	\$612.50	6/20/2011	7/1/2011
		:			To teach Garage Band							
			:			Community			İ			
Shannon	William	nmi	Chabot	No	students	Education	Hourly	\$45.00	8.75 hours	\$393.75	6/20/2011	6/24/2011
					To teach BAR Smog				:			
					Update to Community	Community						
Small	Stephen	Α	Chabot	No	Education students	Education	Hourly	\$45.00	14 hours	\$560.00	2/25/2011	2/26/2011
					To teach math, and	 						
					language arts classes				:			
					and Gladiator Games to				į			
					Kids on Campus	Community				_		
Woll	Lauren	nmi	Chabot	No	students	Education	Hourly	\$30.00	26.2 hours	\$787.50	6/20/2011	7/1/2011
Chabot College		-										
						Health,	[		***************************************			
						Physical	:				1	
			1		To provide tutoring for	Education and					1	
Berven	Joanne	M.	Chabot	No	nursing classes	Athletics	Hourly	\$30.00	20 hours	\$600.00	4/1/2011	5/30/2011
						Social						
					To provide PRIDE	Science /			:			
					specialist support for the							
		i			Foster and Kinship Care	Care			:			
Powell	Yvette	L.	Chabot	No	Education Program	Education	Hourly	\$20.00	200 hours	\$4,000.00	3/1/2011	6/30/2011
					To provide lifeguard							
					services and special	Summer						
					projects for the Summer	Youth Sports					:	
Volz	Thomas	Α.	: .Chabot	No	Youth Sports Program	Program	Flat	\$1,200.00	20/week	\$1,200.00	6/20/2011	7/21/2011
V UIZ	TITIVITIAS	Λ.	CHADUL	INO	Touth Sports Flogram	riogiani	rial	Φ1,ZUU.UU	ZU/Week	Φ1,∠UU.UU	0/20/2011	11211201

### Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
		1										
Las Positas Co	ollege Commu	nity E	ducation									
Arnaiz	Jennifer	M.	Las Positas	No	To teach Flash Animation to Community Education students	Community Education	Liouriy	¢25.00	8.75 hours	<b>\$240.7</b> E	6/20/2044	7/4/0044
Amaiz	Jerminer	171.	Las Fusitas	NO	To assist Community	Education	Hourly	\$25.00	o.75 flours	\$218.75	6/20/2011	7/1/2011
Bartlett	Luveda	M.	Las Positas	No	Education in Guitar classes	Community Education	Hourly	\$15.00	15 hours	\$225.00	7/16/2011	8/20/2011
Brill	Bruce	nmi	Las Positas	No	To teach Guitar to Community Education students	Community Education	Hourly	\$45.00	15 hours	\$675.00	7/16/2011	8/20/2011
Casareno	Justin	D.	Las Positas	No	To provide counseling to Kids on Campus students	Community Education	Hourly	\$10.00	70 hours	\$700.00		7/1/2011
Chowenhill	Richard			No	To provide counseling to Kids on Campus students and Kid's Club after camp care	Community Education			80 hours			
CHOWEITHIN	Nichard	111111	Las Fosilas	NO	To teach activities and athletic classes to Community Education	Community	Hourly	\$11.50	ou nours	\$920.00	6/20/2011	7/1/2011
Craighead	Jason	nmi	Las Positas	No	students	Education	Hourly	\$30.00	100 hours	\$3,000.00	7/1/2011	6/30/2012
DeGuzman	Rudolfo	S.	Las Positas	No	To teach Tae Kwon Do to Community Education students	Community Education	Hourly	\$25.00	6 hours	\$150.00	6/14/2011	7/10/2014
SOUZINGII	radono	J.	Las i Usitas		To teach writing and reading classes for Community Education	Community	Houny	φ25.00	o nours	φ150.00	0/14/2011	7/19/2011
Duran	Lisa	M.	Las Positas	No	students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012

### Informational Report for the June 28, 2011, Board of Trustees Meeting

				New Emp to		, · · · · · · · · · · · · · · · · · · ·				Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Pay Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To teach wellness,							
					activity, and sport				:			
					classes to Community.	Community						1
Eddy	William	S.	Las Positas	No	Education students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
					To teach wellness,							
					activity, sport, and music						į	
					classes to Community	Community			:			
Gruger	Candace	E.	Las Positas	No	Education students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
					To teach auto and smog							
		•	:	1	classes to Community	Community						
Hagopian	Brian	<sup>:</sup> ا.	Las Positas	No	Education students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
<u> </u>					To teach Digital		1.00	<b>V.0.00</b>		Ψ 1,000.00	.,,,20.1	0,00,20,2
			:		Photography to				:			
					Community Education	Community				!		
Jones	Sean	A.	Las Positas	No	students	Education	Hourly	\$25.00	8.75 hours	\$218.75	6/20/2011	7/1/2011
	:				To teach computer							
					classes to Community	Community						
Kang	Manjit	nmi	Las Positas	No	Education students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
					To teach Belly Dance to							
		l			Community Education	Community	Per					
Karpeles	Rachelle	M.	Las Positas	No	students	Education	Student	\$30.00	n/a		6/14/2011	7/26/2011
					To teach language		1					
1211		١,			classes for Community	Community						
Kechich	Sonia	nmi	Las Positas	No	Education students	Education	Hourly	\$30.00	100 hours	\$3,000.00	7/1/2011	6/30/2012
					To teach photography			1	İ		1	
				1	and computer classes to	Community			•			
Ligon	Jack	L.	Las Positas	No	Community Education students	Community Education	Hourty	640.00	200 hours	640,000,00	7/4/2044	6/20/2042
Lrigon	Jack	<u>: L-</u>	Las Pusitas	INU	Students	Education	Hourly	\$40.00	300 nours	\$12,000.00	7/1/2011	6/30/2012

#### Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District		Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To teach art classes to							·····
	i				Community Education	Community	;					
McKay	Katherine	nmi	Las Positas	No	students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
					To teach English as a							
			1		Second Language/						ļ	
			f 1		Writing/Crafts to	!						
					Community Education	Community					(	
Pabley	Vicky	E.	Las Positas	No	students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
		İ			To teach sewing, quilting							
	•				and fashion classes for			:				
				İ	Community Education	Community						
Ragbotra	Kamal	nmi	Las Positas	No	students	Education	Hourly	\$30.00	100 hours	\$3,000.00	7/1/2011	6/30/2012
				:	To teach fencing to		1					
					Community Education	Community						
Rheinheimer	Sophie	C.	Las Positas	No	students	Education	Hourly	\$40.00	300 hours	\$12,000.00	7/1/2011	6/30/2012
					To teach art classes to							
		_			Community Education	Community	1				į	
Ruddle	Kathryn	G.	Las Positas	No	students	Education	Hourly	\$40.00	100 hours	\$4,000.00	7/1/2011	6/30/2012
			ĺ		To teach soccer and							
		İ			activity classes to			!				
	:				Community Education	Community				_		
Sapsford	Paul	nmi	Las Positas	No	students	Education	Hourly	\$40.00	300 hours	\$12,000.00	7/1/2011	6/30/2012
	1				To teach horse training			:				
				:	and activity classes to			:				
		١.		1	Community Education	Community				_		
Vlieks	Ute	nmi	Las Positas	No	students	Education	Hourly	\$40.00	300 hours	\$12,000.00	7/1/2011	6/30/2012
					To teach Spanish and	1	}					
					language classes to							
Maine	C) and him		l Dit	N	Community Education	Community	I I a contro	000.00	400 b	00 000 00	74.0044	0/00/00:0
Weiss	Cynthia	L.	Las Positas	No	students	Education	Hourly	\$30.00	100 hours	\$3,000.00	7/1/2011	6/30/2012

## Informational Report for the June 28, 2011, Board of Trustees Meeting

				New Emp to						Maximum	Assign	Accion
Last Name	First Name	мі	Site	District	Duties	Department	Pay Type	Pay Rate	Maximum	Amount	Beg. Date	Assign End Date
Las Positas Coll							1. 49 . 900	, ay .tato	iii daarii daarii	7 anounc	Beg. Bate	Lina Date
	T				To provide skills						i	
			1		evaluation and assess	Emergency		į			, , , , , , , , , , , , , , , , , , ,	
			1		emergency medical	Medical						
Adkins	Lori	J.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide skills		1			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		0.00,00
		İ			evaluation and assess	Emergency						
				i :	emergency medical	Medical						
Aversa	Drew	A.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and						
				1	for potential foster	Kinship Care						
Battles	Faith	M.	Las Positas	No	parents	Education	Hourly	\$65.00	200 hours	\$13,000.00	7/1/2011	6/30/2012
					To provide skills	1			· ·			
					evaluation and assess	Emergency						
					emergency medical	Medical						
Bilotti	Brendalyn	nmi	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and						
					for parents and	Kinship Care						
Castro	Karen	E.	Las Positas	No	caregivers	Education	Hourly	\$65.00	200 hours	\$13,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and		1		-		
					for parents and	Kinship Care						
Chapman	Jo	В.	Las Positas	No	caregivers	Education	Hourly	\$75.00	200 hours	\$15,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and					!	
				i.,	for parents and	Kinship Care				: !		
Chapman	Thomas	W.	Las Positas	No	caregivers	Education	Hourly	\$75.00	200 hours	\$15,000.00	7/1/2011	6/30/2012
					To provide skills	_						
					evaluation and assess	Emergency						
					emergency medical	Medical						
Cullen	River	Α.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012

## Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					Provide assistance in	Disabled					·	
		í i			test proctoring to	Student		•				
Danner	Terri	L.	Las Positas	No	disabled students	Services	Hourly	\$12.00	270 hours	\$3,240.00	5/2/2011	6/30/2011
				!	To create a universal	Business,						
				İ	pathways format for the	Computing,		e E				
					Technical Education	and Applied						
Duncan	Julie	L.	Las Positas	No	Collaborative	Technology	Hourly	\$70.00	5 hours	\$350.00	3/1/2011	6/30/2011
					To conduct workshops	Foster and						
					for potential foster	Kinship Care		İ				
Evans-McWilliams	Gwendolyn	Y.	Las Positas	No	parents	Education	Hourly	\$50.00	200 hours	\$10,000.00	7/1/2011	6/30/2012
		!	2 1		To provide sign	Disabled						
			· ·		language interpretation	Student						
Ferrell	Sarah	S.	Las Positas	No	services	Services	Hourly	\$30.00	200 hours	\$6,000.00	8/17/2011	5/31/2012
	i -	:			To provide skills						ļ	
		i		,	evaluation and assess	Emergency						
					emergency medical	Medical						
Francies	Naila	nmi	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide skills							
					evaluation and assess		ļ				3	
	_	_			fire service technology	Fire Service						
Freelen	George	T.	Las Positas	No	students	Technology	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide support and	Foster and					:	
_			<u>.                                      </u>		conduct workshops for	Kinship Care						
Gecox	Heike	nmi	Las Positas	No	parents and caregivers	Education	Hourly	\$50.00	200 hours	\$10,000.00	7/1/2011	6/30/2012
		!	)		To present two			:				
			:		workshops for ECD/ESL			1				
		:			students at Our							
		:			Focus/Creciendo Juntos							
	Ì ! <u>.</u>	١.			conference on April 2,	Childhood						
Gutierrez	Ana	A.	Las Positas	No	2011	Development	Flat Rate	\$250.00	n/a	\$250.00	4/2/2011	4/2/2011

## Informational Report for the June 28, 2011, Board of Trustees Meeting

				New Emp to								
Last Name	First Name	MI	Site	District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	_
						Business,	i ay i ypc	i uy itute	Maximum	Amount	Deg. Date	Lilu Date
					To provide automotive	Computing,				:		
					training for General	and Applied				:		
Hagopian	Brian	J.	Las Positas	No	Motors	Technology	Hourly	\$53.00	920 hours	\$48,760.00	7/1/2011	12/31/2011
					To conduct workshops	Foster and						
	!	;			for parents and	Kinship Care						
Hauser	Gerry	A.	Las Positas	No	caregivers	Education	Hourly	\$50.00	200 hours	\$10,000.00	7/1/2011	6/30/2012
					To provide sign	Disabled				:		
	<b>.</b>			. 	language interpretation	Student				:		
Hearn-Cotrufo	Christine	nmi	Las Positas	No	services	Services	Hourly	\$50.00	200 hours	\$10,000.00	8/17/2011	5/31/2012
		İ			To provide skills							
					evaluation and assess	Emergency				:		
Heller	Jonathan	c.	Las Positas	Na	emergency medical	Medical	I I a combo	645.00	000 5	00 000 00		0/00/00/0
riellel	Julatian	<u> </u>	Las Positas	INO	services students To provide skills	Services	Hourly	\$15.00	200 nours	\$3,000.00	7/1/2011	6/30/2012
				!	evaluation and assess	Emergency						
	;			!	emergency medical	Medical				:		
Helstrom	Zel	D.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide skills	1	riouny	Ψ10.00	200 110013	Ψο,σσο.σσ	77172011	0/30/2012
					evaluation and assess	Emergency						
					emergency medical	Medical				!		
Hogue	Terrence	K.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide skills		-					
	İ				evaluation and assess							<u> </u>
					fire service technology	Fire Service						
Holback	Richard	A.	Las Positas	No	students	Technology	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
			3		To provide skills	_						}
					evaluation and assess	Emergency						
labarra	(Danis) al		D		emergency medical	Medical						
Johansen	Daniel	J	Las Positas	NO.	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012

## Informational Report for the June 28, 2011, Board of Trustees Meeting

				New								
		 	<b> </b>	Emp to						Maximum	Assign	Assign
Last Name	First Name	IMI	Site	District		Department	Pay Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide sign	Disabled						
			1		language interpretation	Student					ļ	
Koski	Sandra	C.	Las Positas	No	services	Services	Hourly	\$30.00	300 hours	\$9,000.00	8/17/2011	5/31/2012
					To conduct workshops	Foster and						
			1		for parents and	Kinship Care						
Kyer	Beverly	D.	Las Positas	No	caregivers	Education	Hourly	\$75.00	200 hours	\$15,000.00	7/1/2011	6/30/2012
		:	:		To conduct workshops	Foster and						
	:	;			for parents and	Kinship Care				ĺ		
Maselli	Robert	J.	Las Positas	No	caregivers	Education	Hourly	\$75.00	100 hours	\$7,500.00	7/1/2011	6/30/2012
					To provide skills							
					evaluation and assess	Emergency		l				
McClendon-		:			emergency medical	Medical		İ		İ		
Hinnenkamp	Wendy	L.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
			!		To conduct workshops	Foster and						
		i	1		for parents and	Kinship Care						
McClure	Christopher	T.	Las Positas	No	caregivers	Education	Hourly	\$50.00	100 hours	\$5,000.00	7/1/2011	6/30/2012
					To provide skills							
	* 100				evaluation and assess	Emergency						
					emergency medical	Medical						
McPeak	Christopher	L.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide job	Disabled	<u> </u>			i		
			!		development support for	Student						
Montalvo	Debra	J.	Las Positas	No	disabled students	Services	Hourly	\$28.90	1000 hours	\$28,900.00	7/1/2011	12/31/2011
					To provide sign	Disabled		<del>-</del>			- 1	
				!	language interpretation	Student		į				
Moore	Rachel	M.	Las Positas	No	services	Services	Hourly	\$32.00	200 hours	\$6,400.00	8/17/2011	5/31/2012
				1	To provide sign	Disabled	<u> </u>			,		
				!	language interpretation	Student						
Noble	Dora	nmi	Las Positas	No	services	Services	Hourly	\$35.00	200 hours	\$7,000.00	8/17/2011	5/31/2012

## Informational Report for the June 28, 2011, Board of Trustees Meeting

	Jan			New Emp to					<del>" -   -   -   -   -   -   -   -   -   - </del>	Maximum	Assign	
Last Name	First Name	IMI	Site	District	Duties	Department	Pay Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
			1			Foster and						
Daniell	X 44		,		To provide support for	Kinship Care						
Powell	Yvette	L.	Las Positas	No	PRIDE classes	Education	Hourly	\$22.00	300 hours	\$6,600.00	7/1/2011	6/30/2012
						Foster and		]				
<b>D</b> *1	0	.			To provide support for	Kinship Care						
Riley	Gloria	L.	Las Positas	No	PRIDE classes	Education	Hourly	\$22.00	300 hours	\$6,600.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and		İ				
D'1					for potential foster	Kinship Care	1					! 
Riley	Gloria	L.	Las Positas	No	parents	Education	Hourly	\$50.00	200 hours	\$10,000.00	7/1/2011	6/30/2012
					To design the Spring							
<b>5</b> . 4	a				2012 Schedule of	Student						
Rothman	Cheryl	Α	Las Positas	No	Classes for the college	Services	Flat Rate	\$2,500.00	n/a	\$2,500.00	9/1/2011	10/31/2011
					To provide Mental	Disabled						
0-114					Health Counseling in the							
Schultz	Nancy	וממ	Las Positas	No	Health Center	Services	Hourly	\$21.00	20 hours	\$420.00	7/1/2011	6/30/2012
					To provide sign	Disabled						
0		١.			language interpretation	Student						
Spohn	Judy	nmi	Las Positas	No	services	Services	Hourly	\$50.00	200 hours	\$10,000.00	8/17/2011	5/31/2012
					To conduct workshops	Foster and						
Ot F. P	<b>.</b>	_			for potential foster	Kinship Care						
Stewart-Felix	Paula	D.	Las Positas	No	parents	Education	Hourly	\$50.00	200 hours	\$10,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and		)				
<b>-</b> .		_	_		for parents and	Kinship Care						
Trogdon	Pamela	C.	Las Positas	No	caregivers	Education	Hourly	\$50.00	300 hours	\$15,000.00	7/1/2011	6/30/2012
	İ	<i>i</i>			To provide skills							
		:	]		evaluation and assess	Emergency						
	j	:			emergency medical	Medical						
Voelker	Kathryn	М.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012

## Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide sign	Disabled	1			7 4110 4110	Dog. Date	Liid Date
					language interpretation	Student					A de Senanti	
Walters	Elizabeth	E.	Las Positas	No	services	Services	Hourly	\$50.00	200 hours	\$10,000.00	8/17/2011	5/31/2012
		1		- 1000 m	To provide skills							
					evaluation and assess	Emergency					1	
		_	1		emergency medical	Medical						
Ward	Sarah	E.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To provide skills evaluation and assess	Emergency						
)	0 44				emergency medical	Medical						
Ward	Scott	D.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
					To conduct workshops	Foster and	2					
Wells	Karen	R.	l Dit	NI	for parents and	Kinship Care		•				
AAGII2	Nateri	Γ.	Las Positas	INO	caregivers	Education	Hourly	\$75.00	200 hours	\$15,000.00	7/1/2011	6/30/2012
•					To conduct workshops	Foster and				!		
Wilkins	Quincy	1	Las Positas	No	for potential foster parents	Kinship Care Education	I I a contro	005.00	000 1	<b>#</b> 40 000 00	7/1/2011	
VV III (III)	Quincy	<u>L.,</u>	Las Fusitas	INO	To provide skills	Education	Hourly	\$65.00	200 nours	\$13,000.00	7/1/2011	6/30/2012
					evaluation and assess	2						
					fire service technology	Fire Service						
Wilson	Robert	I.	Las Positas	No	students	Technology	Hourly	\$15.00	50 hours	\$750.00	6/1/2011	6/30/2012
					To provide skills	, room onegy	1.00.19	<u> </u>	00 110013	\$750.00	0/1/2011	0/30/2012
					evaluation and assess	Emergency	:	1				
					emergency medical	Medical						
Wong	Sebastian	E.	Las Positas	No	services students	Services	Hourly	\$15.00	200 hours	\$3,000.00	7/1/2011	6/30/2012
District Services												
				\$ : :	To perform specialized	Chancellor's						
Bailey	Beverly	F.	District	No	projects and services	Office	Hourly	\$50.00	625 hours	\$31,250.00	7/1/2011	12/31/2011

## Informational Report for the June 28, 2011, Board of Trustees Meeting

				New Emp to						Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Department	Pay Type	Pay Rate	Maximum		Beg. Date	End Date
					Support special					7 0.105 0.114	3	
					assignments and							
					projects including CBA	Human						
Groppetti	Eugene	P.	District	No	negotiations	Resources	Hourly	\$100.00	300 hours	\$30,000.00	7/1/2011	6/30/2012
				İ	To provide services for	Public						
					marketing, public	Relations and						
					relations, advertising	Government						
Lauffer	Mary	M.	District	No	and special events	Affairs	Hourly	\$50.00	250 hours	\$12,500.00	4/15/2011	6/30/2011
					To provide non-credit							
	i :				Early Childhood							
					Development courses	Contract						
McGregor	Diana	L.	District	No	for clients	Education	Hourly	\$78.45	102	\$8,001.90	2/1/2011	5/27/2011
					Support special			1				
					assignments and							
Milanasa	Daniel	_	District.		projects including CBA	Human						
Milanese	Donald	R.	District	No	negotiations	Resources	Hourly	\$100.00	300 hours	\$30,000.00	7/1/2011	6/30/2012
	1				To provide non-credit			ļ				
•	:				Early Childhood							
Ozdemir	: Hilal	ы	District	No	Development courses	Contract		000.40				
Ozdeniii	пна	Н.	District	No	for clients	Education	Hourly	\$96.40	37.5 hours	\$3,615.00	2/1/2011	5/27/2011
					To provide non-credit Early Childhood							
						C4						
Podrigge	Edna	М.	District	No	Development courses for clients	Contract	I I a contro	000.07	<b>54</b> to	0=0000		
Rodriggs	Euna	IVI.	DISTRICT	INO		Education	Hourly	\$99.97	54 hours	\$5,398.38	2/1/2011	5/27/2011
					To provide emotional and practical support to	1						
					parents new to the	*					:	
		:			Solano County Child	Contract						
Roush	Vanessa	C.	District	Yes	Welfare system	Education	Hourty	640.00	2000 have-	#00 000 CO	E/4/0044	0/00/0011
. (040)1	vancosa	<u> </u>	DISTILL	163	vvenare system	Luucauon	Hourly	\$10.00	2080 hours	\$∠0,800.00	5/1/2011	6/30/2011

## Informational Report for the June 28, 2011, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District		Department	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
Stein	Julie	     L	District	No	To provide non-credit soft skill training services for clients	Contract Education	Hourly	\$100.00	80 hours	\$8,000.00	7/1/2011	6/30/2012